Efficiency vs Dxy(PV)

Ratio

-25-20-15-10 -5 0 5 10 15 20 25
TP dxy(PV) (cm)

—=— DQM_TT__mkFit-DQM_original

I Efficienc] —— DQM_TT__mkFit-DQM_original_newwindows

—— /data2/legianni/standalone-May24/CMSSW_13_2_X_2023-06-05-1100/src/DQM_TT__mkFit-DQM_updated

i N g || mH
“||| \Hp ||| | IM h.u
1!!. nnl || 11 \||
0.2 O .2 0.4

i i1
TP dxy(PV) (cm)

Ml |I

=30 -20 -10 10 20 30
TP dz(PV) (cm)

Efficiency vs Dz(PV)
0.5

o

o

efficiency vs dz(PV)

Ratio

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


